
СИСТЕМАТИКА​
XIV олимпиада по математике. 1 тур ​

3 класс 

Задача 1​
Ответ: Б) 4 на левом, 8 
на правом​
Баллы: 4 балла​
​
Задача 2​
Ответ: Б) 6​
Баллы: 4 балла​
​
Задача 3​
Ответ: Вариант 1​
Баллы: 5 баллов​
​
Задача 4  
Ответ: А) 6​
Баллы: 5 баллов 
​
Задача 5​
Ответ: А) 6​
Баллы: 4 балла​
​
Задача 6​
Ответ: В) 2001 
Баллы: 5 баллов​
​
Задача 7 ​
Ответ: В) 7 
Баллы: 4 балла​
​
Задача 8 ​
Ответ: В) 5 
Баллы: 4 балла​
​
Задача 9​
Ответ: Г) 8 
Баллы: 5 баллов​
​
Задача 10​
Ответ: Б) 600​
Баллы: 5 баллов 
 
Задача 11​
Ответ: В) 5​
Баллы: 5 баллов 


